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1 Which one of the following most accurately describes microeconomic topics? 

A The price of newspapers, the demand for electricity and the price of private 
education 

B The price level, the demand for housing and the price of healthcare 
C The rate of economic growth, the price of electricity and the demand for 

healthcare 
D The demand for newspapers, the rate of inflation and the price of housing. 
  [1½] 

2 In general, increased investment in capital goods will lead to:  

A increased current consumption. 
B reduced future capital. 
C reduced current consumption. 
D none of the above. 
  [1½] 

3 An increase in the price of frozen yoghurt would lead to: 

A a rightward shift of the supply curve for ice cream. 
B a leftward shift of the demand curve for frozen yoghurt. 
C a rightward shift of the demand curve for ice cream. 
D an increase in the quantity demanded for frozen yoghurt. 
  [1½] 

4 A significant increase in income is least likely to increase the demand for which of the 
following? 

A Fizzy drinks 
B Cars 
C Jewellery 
D Exotic holidays. 
  [1½] 

5 If the demand for a good increases from 200 units to 400 units when the price falls 
from £16 to £12, then the price elasticity of demand using the arc method is equal to: 

A 0.29. 
B 2. 
C 2.33. 
D 4. 
  [1½] 
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6 Food outlets in airport terminals are able to charge a higher price than their high street 
equivalent because demand for food in airport terminals is:  

A perfectly price inelastic. 
B relatively price inelastic. 
C perfectly price elastic. 
D relatively price elastic. 
  [1½] 

7 The supply curve will shift to the left when:  

A production costs fall. 
B the market price falls. 
C there is technological progress. 
D fewer firms are producing. 
  [1½] 

8 If the demand curve is more price inelastic than the supply curve, then a subsidy will 
benefit:  

A mainly the consumer. 
B mainly the producer. 
C consumers and producers equally. 
D not possible to determine. 
  [1½] 

9 The marginal cost curve:  

A intersects the marginal product curve at its minimum. 
B intersects the total cost curve at its minimum. 
C is inversely related to the average cost curve. 
D intersects the average cost curve at its minimum. 
  [1½] 

10 What type of cost best describes the repayment of a bank loan for a firm? 

A Total cost 
B Variable cost 
C Marginal cost 
D Fixed cost. 
  [1½] 
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11 In the long run, firms will produce as long as the price they charge:  

A exceeds marginal revenue. 
B exceeds average fixed cost. 
C exceeds average variable cost. 
D exceeds total average cost. 
  [1½] 

12 A firm is operating in a perfectly competitive industry and in long-run equilibrium. 
An increase in wages would lead to:  

A no change in the number of firms or profits. 
B an increase in the number of firms and increase in profit. 
C a reduction in the number of firms and potential losses. 
D a reduction in the number of firms and an increase in profit. 
  [1½] 

13 The marginal revenue curve for a monopoly is:  

A also the demand curve. 
B above the demand curve. 
C below the demand curve. 
D perfectly horizontal. 
  [1½] 

14 Which of the following is an example of a government policy conflict?  

A A reduction in interest rates leading to more economic growth and an increase 
in employment 

B A reduction in tax leading to more economic growth and lower unemployment  
C An increase in public expenditure leading to a fall in unemployment with 

higher prices 
D None of the above. 
  [1½] 

15 The circular flow of the income model assumes that injections:  

A are a function of income. 
B reduce aggregate demand. 
C represent income leaving the economy. 
D are linked to the level of income. 
  [1½] 
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16 In an economy, investment spending is £240 billion, savings are £160 billion, 
government spending is £80 billion, imports are £120 billion and tax is £80 billion. 
What is the value of exports in this economy?  

A £40 billion 
B £80 billion 
C £120 billion 
D £360 billion. 
  [1½] 

17 If the marginal propensity to consume is 0.6, then the multiplier assuming no taxes is:  

A 1.4. 
B 1.67. 
C 2.5. 
D none of the above. 
  [1½] 

18 In order to determine real national income, the nominal national income is adjusted 
for: 

A indirect taxes. 
B depreciation of the capital stock. 
C population size. 
D changes in the price level. 
  [1½] 

19 Policies that are designed to support the supply side of the economy do not include:  

A reductions in benefits. 
B research and development subsidies. 
C increased government spending. 
D training more of the population. 
  [1½] 

20 During an economic boom, the government fiscal position is likely to:  

A worsen due to lower unemployment. 
B worsen due to higher incomes. 
C improve because of lower tax revenue. 
D improve due to less spending on benefits. 
  [1½] 
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21 In order to avoid the problem of fiscal drag, the government should:  

A maintain income tax bands. 
B reduce income tax bands. 
C increase wages. 
D increase income tax bands. 
  [1½] 

22 People hold cash in order to make general purchases. This is known as:  

A speculative motive. 
B transaction motive. 
C exchange motive. 
D precautionary motive. 
  [1½] 

23 An increase in the money supply will:  

A decrease short-term interest rates and increase aggregate demand. 
B decrease short-term interest rates and decrease aggregate demand. 
C increase short-term interest rates and increase aggregate demand. 
D increase short-term interest rates and decrease aggregate demand. 

  [1½] 

24 Structural unemployment most commonly arises:  

A when real wages in the economy are too high. 
B at particular periods during the year when demand is low. 
C when an industry experiences sustained decline in demand. 
D when there is a sustained decline in aggregate demand. 
  [1½] 

25 Given a population of 24 million people, with 12 million employed and 2 million 
unemployed, what is the size of the labour force? 

A 22 million 
B 14 million 
C 12 million  
D 10 million. 
  [1½] 
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26 Cost-push inflation may be likely to arise following:  

A a cut in the rate of income tax. 
B a reduction in interest rates. 
C an increase in government spending. 
D an increase in energy prices. 

  [1½] 

27 (i) Given a consumer price index of 154.5 in the year 2019 and 165.3 in 2020, 
calculate the rate of inflation in 2020. [1] 

(ii) The average price of a car was £35,650 in 2019. Calculate the revised price in 
2020 based on the rate of inflation calculated in part (i). [1] 

(iii) Assume that in 2019 Robert has invested £2000 in a bank account, which pays 
an annual interest rate of 6%. After a year has passed, he is paid £120 in 
interest. Explain whether Robert is now better off than he was the year before 
based on your answer in part (i). [2] 

  [Total 4] 

28 The marginal utility for an individual is measured as the maximum amount (in US 
dollars) that they are willing to pay for consuming a unit of Good A.  

The table below shows the marginal utility for consuming various units of Good A 
priced at $8 per unit.  

Quantity 
consumed 

0 1 2 3 4 5 6 

Marginal 
utility ($) 

 25 20 14 10 6 4 

 
(i) Calculate the individual’s total utility from consuming four units of Good A.

 [1] 

(ii) Calculate the individual’s total expenditure from consuming five units of  
Good A. [1] 

(iii) Calculate the individual’s marginal consumer surplus from consuming a third 
unit of Good A. [1] 

(iv) Calculate the individual’s total consumer surplus from consuming two units of 
Good A. [1] 

(v) Calculate the level of consumption at which total consumer surplus is 
maximised. [2] 

  [Total 6] 
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29 Discuss the challenges that a company manufacturing personal protective equipment 
during a pandemic may experience when seeking to expand its production in the short 
and long run. [5] 

30 Explain, with reference to the characteristics of the specific market, why a gymnasium 
is unlikely to be associated with a model of perfect competition. [5] 

31 The following diagram represents a profit-maximising dairy farm operating in perfect 
competition, where MPC is the Marginal Private Cost curve and AR is the Average 
Revenue curve for the dairy farm. Assume that the production of milk on the farm 
leads to pollution of the surrounding land area, but this pollution is an external cost to 
the dairy farm.  

 
(i) Identify which of the two curves above, A or B, represent the marginal social 

cost curve. [1] 

(ii) Determine the level of output that the firm will produce if it decides not to 
take any account of the damage to the surrounding land area. [1] 

(iii) Determine the level of marginal external cost at the level of output identified 
in part (ii). [1] 

(iv) Determine the level of socially efficient output. [1] 
  [Total 4] 
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0 Q1 Q2 Q3 Quantity of milk 
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32 (i) Describe the type of inflation that would be expected to arise with an increase 
in the price of an energy source, such as gas, in an energy-importing country.  

(ii) Outline a potential policy response to manage the type of inflation identified in 
part (i), in the long run and the practical challenges that may be associated 
with such a response. 

33 Compare the effect of increasing income tax relative to a sales tax on consumers,
producers and the economy. [6] 

34 Compare the motives for holding money in cryptocurrencies such as Bitcoin or
Ethereum, as opposed to traditional money. [6] 

35 (i) Discuss why agricultural products exhibit greater price volatility than 
manufactured goods. [5] 

(ii) Outline various types of intervention that government may make in the 
agricultural market and the challenges associated with such intervention, given 
potential price volatility. [5] 

[Total 10] 

36 (i) Describe why reducing barriers to trade may benefit countries that trade in 
medical equipment. [5] 

(ii) Discuss the economic arguments for rolling out free vaccines during a global 
pandemic. [5] 

[Total 10] 

END OF PAPER 

[3] 

[2] 
[Total 5] 


